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Sketch the graph of each function.
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For each function, identify the points of discontinuity, holes, interce pts, horizontal asymptote,
domain, limit behavior at all vertical asymptotes, and end behavior asymptote. Then sketch the
graph.
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Solve each equation. Round yvour answers to the nearest ten-thousandth.

1) log x—log 2=log 17 2) log8+logx=1

3)log3+logx=2 4) logx-log2=1

Solve each equation.

5) log, (x* —=1)=log,3=1 6) log 3x” — log 3=2
7) log, 4x - log, S=1log, 39 8) log, (x+4)-log, x=3
9) In(5-2x)+In9=4 10) In(3x-=1)+In4=In 15

1) m(10-2¥*) - In5=In2 12) In5-1n(4 —4x)=1n 33




Use identities to find the value of each expression.

1) If sin @ =-0.93, find cos((] %] 2) Iftan (-@) =—-1.48, find col(% 0].
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3) If cos (() :] = ~().52, find sin . 4) Ifsin @ = 0.16, find cos (: ()]_
i . ' ‘ | T )
5) If sec @ =4.45, find csc ( " {)), 6) I sm[() R ) = ~0).22, find cos (-@).
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7) If tan @ = -0.87, Iindcol(: (}). 8) n‘csc( 0): 1.11, find sec |-8).
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9) Find sin @ and sec # 10) Findcsc # and sin @

iftan @ = 3andcos # < 0. o 7 ,
iftan @ = : and sin # < 0.

11) Find cos @ and csc @ 12) Findcsc & and sec @
3 3
iftan @ = 5 and sin # < 0, ifcot @ = 5 and cos @ > 0.
13) Find cot # and cos ¢ 14) Findcos & and sec @
g
if csc @ = ': and cos @ < 0. if sin @ = -: and cos # <0,
15) Find ¢sc @ and sin @ 16) Find cos @ and sec @

2 . |
if tan @ = 3 and csc @ <0, ifcot @ = R and cos @ > 0.
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